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General Instructions:

1. Thi :
2 ;:"ts' question paper has 5 Sections: A, B, C, D and E.
3' ction A has 20 MCQs carrying 01 mark each
- Section B has 5 questi i
4. Socti questions carrying 02 marks each.
5' Sethon C has 6 questions carrying 03 marks each.
. Section D has 3 case-based integrated units of assessment (04 marks) with sub-parts
of the values of 2, 1 and 1 marks each respectively.
6. Scction E has 4 questions carrying 05 marks each.
7. All questions are compulsory. However, an internal choice in 2 Q of 4 marks, 2 Q of 3
marks and 2 Q of 2 marks has been provided.
8. Draw neat figures wherever required. Take ®= 27—2 wherever required if not stated.
___________-—=-=‘)__f-=-=—‘
SECTION A
| The product of two qumbers is 1600 and their HCF is 5. The LCM of the numbers is: [1]
(i) 1600 (ii) 8000 (i) 1605 (iv) 320
2 Ifa is rational and [b/is irrational, then @ +7_\__/754i5: [1]
@xﬂﬂrralional number (ii) an integer
(iii) a natural number” (iv) a rational numbersy/
(@ 11 the zeroes of the quadratic polynomial «2+(a+1)x+bare2and 3, then: n
ia=0,b=-6 (Da=3b="1 Gipa=-7,b=-1 (W)a=2b=-6p, AU =
A F v

N

. . = n
The pair of equations ax +2y=9 and 3x + by = 18 representlparallel lines, where a, %'are integers
/7(, ’

if:
(i) 2a=3b (iii) 32 = 2b M =6

a=b
The discriminant of the quadratic equation 2xZ+|x-1=01is:
()9 (ii) -9 (i) - 7 (iv) 7

Match the following.

(1]

(1]

[1]
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(@) In A ABC, DE || e = 717 _ 1E
(Av) . .
X (@) - (iv), (b) - (i), () - (i), (d) - (iii) (i) - (i), (b) - (i), (c) - (iii), (d) - (iv)
)gii) (@) - i), (b) - (i), (c) - (iV) @) -Gi) (iv) (@) - (i, (b) - (i), (¢) - (ii), (d) - (iv)

7 BC b
IfinA ABC and A DEF, 42 bt = rg then & ABG ~ A DEF when: AP [
qffBuE (i) 2 B = 2D (lii)4A=LyF (V)2 A=2PE
/ X
8  Find the value of sin? 30 © + 4¢or 2 45 - sec?60°, A [1
(i)0 (ii) 1 (iii) < (iv) 4 /\
4 D______,
P OstA-9mnA=  Q{goiap —bannp) @ a( T
(i) 401} 9 (i) ()8
10 Ifcosg =§, then2sec26+2tan2g.- 7 is equal to: [1]
i

() 1 (i) 4 A 0 (iv) 3

11 Ifthe area of a sector POK is 1007 $q.units and angle POK = 49 ° | then find the radius of the sector. [1]

LU, (i) 222 units (i) 2 units (iv) 222 i
12 Find the area of the segment if the areaof the sector is(@4 m? and the part ol a triangle in the sector n
is 12 m? Wy .

(i) 39 m? (i) 31 m? sz (iv) 22 m? :\\‘ T

13 The most frequent value in the data is known as:

(i) mea}n; Mode (iii) all the three (iv) mqiiun

‘ . X
\If_) Consider the following frequency distribution:

/1
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The difference of the upper limit of the median~— |Class gk 105 1125 (i4h 16 s 205
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15 From a well shuffled pack of 52 cards, one card is drawn at random. The probability of getting a (1]

diamond is:
(i) 3 (i) 2 (i) 2 (i) L
16  From a point P which is at a distance 13 cm from the centre O of a circle of radius S ¢m, the pair of (1]
tangents PQ and PR to the circle are drawn. Then the area of the quadrilateral PQOR is:
(i) 65 cm? (ii) 32.5 cm? (iii) 30 cm? (iv) 60 cm?
17  Inthe given figure, if ZRPS = 25°, the value of £ROS is: (1]

(i) 135° (ii) 145° (iii) 165° _GvY155°

18  sin2B = 2sin B is true when B is equal to: [1]

(i) 90° (i) 60° (iii) 30° m

19  Assertion (A): Arithmetic mean between 8 and 12 is 10. 5+ /n [1]
Reason (R): Arithmetic mean between two numbers a and b is given as ﬂz;b / ,\/@/ [ o
(i) Both A and R are true and R is the correct explanation of A. o
(ii) Both A and R are true but R is not the correct explanation of A. /Q/
(iii) A is true but R is false.
(iv) A is false but R is true.
20  Assertion (A): Two identical solid (iubes of side 5 cm are joined end-to-end. The total surface area 1]
of the resulting cuboid is 300 cm?. X
Reason (R): Total surface area of a cuboid is 2(Ib + bh + Ih). @/
L q,gml
(i) Both A and R are true and R is the correct explanation of A. M} o>

(ii) Both A and R are true but R is not the correct explanation of A.

(iii) A is true but R is false.

-
ftj?(\h”{ NS
L

C:;/-ff ] /./i/"l, -
(iv) A is false but R is'true. L—(—C% / /@é?ﬂ N /\L‘\ g/
noe SECTION B ,
//7;9/ QLCD—\’%S-FS’OB ]'[LJ/Y‘L

21 @_h_e_graphical method. Yind whether the pair of equation is consistent or not. LT consistent, solve i 42
3x+y+4=0, 6x—2y+4=0
22 Determine whether the given points are vertices of a right triangle: 12]

(8, 4)!(59 7) and (_151) "L,
n ‘ QO/ A/ n]



In the given figure, A ACB ~A AQP ITBC 8em, PO 4em. BA - 6.5cm 2]

AQ = 2.8 em. find CA and PA,
v e ?
e, BE B WA
e - ) 5
L I ~ \
x P
C
OR
In Fig.. AD bisects 24, AB =12 cm, AC =20 cm and BD =5 ¢cm. Determine CD.
A
N /
: i /
(A . £ Fy
P X ) &
N - v v
W \ =
P XV
\ B D C \ /
A
24 Ifsing = \/(z:+_l72' 0 <& <90° find the values of cosd and tan§. 2]

OR

. ‘ A - ot S e .
/U{gthe formula, cos A = HCZSZ find the value of cos 30°, it being given that cos 60° = z

25 A tangentf’(‘“7 ata point P on a circle of radius 5 cm meets a line through the centre O at a point Q so 2]

that OQ = 13 c¢m. Find the length PQ. "
¢ Section C
A -
26 Lenin is preparing dinner é\)lates. He has 12 pieces of chicken and 16 rolls. If he wants to make all the [/
plates identical without any food left over, what is the greatest number of plates Lenin can prepare?

N

27 d the zerocs of the quadratic polynomial 3x% - 2 and verify the relationship between the zeroes R
nd the coefficients. |
o c
OR
Find the zeroes of the given quadratic polynomials and verify the relationship between the zeroes
and the cocfficients: 6x2 — 3 — 7y, . L2
Sind + 20ed) (1)
, o x -1 1 e . o b g , 13
28 Solve: ol 4 A /]-;,)L + 2,0. STt SN 2O+ M pro 4 YU S (0 l
29 Isin@ +2cos 0 | prove that 2 sin ¢ - cos 0 2. * = | N
- QU'\W@ (620 = |- §\n2d
- % "N20 - Yeorg
L OR s
~ G 2= HAWD - O 0) T =iy

<
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! — cosecA - cosecA

Prove: m (COtAY(5ecA)1cota
30 Two dice are thrown simultancously. What is the probability that: 3]
1 5 will not come on ¢ither of them? P \
S P 5
5 5 will come up on at least one? / ‘}%,, ey
. ) ) v/
1 5 will come up on both dices? 4 QX /
) . ) < ) 1 ",
31 Ifa hexagon ABCDEF circumscribes a circle, prove that: R & o 13]
AB + CD + EF=BC + DE+ FA. ?’5\;/‘”
Section D O\‘/Y‘ =
- ‘\\J
[This section comprises of 1.Cas.t.%-st-l{fiy/passage-based question of 4 marks each with sub parts
(1), (ii), (iii) of marks 2,1, 1 respectively.)
32 Elpis Technology is a TV manufacturer company. It produces smart TV sets not only for the Indian
market but also exports them to many foreign countries. Their TV sets have been in demand every
time but due to the Cov1('1 - 19 pandemic, they are not getting sufficient spare parts, especially chips
to aCCfelerate the production. They have to work in a limited capacity due to the lack of raw
materials.
(i) They produced 600 sets in the third year and 700 sets in the seventh year. Assuming that the 21

production increases uniformly by a fixed number every year, find an increase in the production of
TV every year.

(i)  They produced 600 sets in the third year and 700 sets in the seventh year. Assuming that the 11
production increases uniformly by a fixed number every year, find in which year production of TV is

1000.
OR

They produced 600 sets in the third year and 700 sets in the seventh year. Assuming that the
production increases uniformly by a fixed number every year, find the total production in first 7

years.
(iii) They produced 600 sets in the third year and 700 sets in the seventh year. Assuming that the [
production increases uniformly by a fixed number every year, {ind the production in the 10" year.

33 There are two routes to travel from source A to destinatiqn B by bus. The first bus reaches at B via
point C and the second bus reaches from A to B directly. The positions of A, B and C are

represented in the following graph:

Based on the above information, answer the following questions.

Secale: x - axis : 1 unit=1 km y - axis: I unit = I km

W ' i ( \\ - X
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(i) Ifthe fare for the second bus is 157/1\<m, what will be the fare to reach the destination by this bus” (2]
(i) Whatis the distance between A and B? o
(1]

(i) Whatis the distance between A and C?
OR

If it is assumed that both buses have same speed, then by which bus do you want to trézlel from A to

B? -
80m high. The angle of elevation of the bird, from a

34 A bird is sittiﬁg on the top of a tree, which is
point on the ground is 45°. The bird flies away from the point of observation horizontally and
2 seconds, the angle of elevation of the bird from the point of

ins at a constant height. After

remal
observation becomes 30°.
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(i)  Find the distance between the observer and the bottom of the tree.

(ii)  Find the speed of the bird.
OR

_Find the distance between the initial position of the bird and the observer.

(iii) Find the distance between the second position of the bird and the observer.
Section E

>

Ifx = - 4 is a root of the equation x? + 2x + 4p = 0, find the values of'k for which the equationx 2 Al
+px(1+ 3k) + 7(3 + 2k) = 0 has equal roots. A

OR

Ifx=- 2isaroot of the equation 3x* + 7x +p = 0, i ‘
| : p = 0, find the value of K so that the roots of the
equation x? + k(4x + k — 1) +p = 0 are equal. P otihe
1€,
/‘E\]“Tf vy 1\

n 1 S =




Q
PQRS is a trapezi ' ' i
s a trapezium with PQJl SR. Diagonals PR and SO i
¢ als and SO ntersect at M and 3
APMS ~ AQMR . Prove that PS = QR. o . 3

37  Ani illar . . 1 )
: ,Ilr-(m pillar c0|.15|sl.s Of-d cylindrical portion 2.8 m high and 20 c¢m in diameter and 2 cone 42 i
ghis surmounting it. Find the weight of the pillar, given that 1cm? of iron weighs 7.5 ¢

51

OR

dA_ hemispherical depression is cut out from one face of a cubical wooden block such that
Iamftter of the hemisphere is equal to the edge(a) of the cube. Determine the surface arca ¢
remaining solid in terms of “a”.

38/
e

e 38- [40- |42- |44- |46- [48- [50- ARS
Weight(inkg) (40 (42 (44 [46 |48 |50 SZJ ﬂﬁ- = _——

Number of \
students 3 2 4 5 14 4 3 J Q m T\{\ - K

Calculate the mean and median for the above data.

o o ok ok ok sk R Rk Rk R R R R R R R AR R

During the medical check-up of 35 students of a class, their weights were recorded as follows:

**tf*lli_"l
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